Kugelkoordinaten
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Abbildung 13.2 Kugelkoordinatenr, &, ¢
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Abbildung 13.13 a Kugelkoordinaten, b orthogonales Dreibein der Einheits-
vektoren e,, €, €, im Punkte P. c Flichenelement auf der Kugeloberflache



Taylor-Reihe



https://en.wikipedia.org/wiki/Taylor_series
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As the degree of the Taylor polynomial rises, it approaches the correct function. This image
shows sin(x) and its Taylor approximations, polynomials of degree 1, -,

7.9 11and 1°.



https://en.wikipedia.org/wiki/Taylor_series
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The Taylor polynomuials for log(1 + x) only provide accurate approximations in the range -1 <x=1.
MNote that, for x = 1, the Taylor polynomials of higher degree are worse approximations.



"Exp neg inverse square" by Plastikspork —CE(talk) - | (Plastikspork —CE(talk)) created this work entirely by myself.. Licensed under Public
Domain via Commons - https://commons.wikimedia.org/wiki/File:Exp_neg_inverse_square.svg#/media/File:Exp_neg_inverse_square.svg

0: the Taylor series Is
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The function e-1/%2% is not analytic at x
identically 0, although the function is not
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Fourier-Transformation

Siehe auch mathematischer Anhang (Kap. 13) im Demtréder-Buch
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https://de.wikipedia.org/wiki/Rechteckschwingung
»Fourier synthesis” von René Schwarz - Eigenes Werk, SVG Version of File:Fouriersynthese.png. Lizenziert unter CC BY-SA 3.0
Uber Wikimedia Commons - https://commons.wikimedia.org/wiki/File:Fourier_synthesis.svg#/media/File:Fourier_synthesis.svg
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Fourierreihe einer Rechteckschwingung

Originalfunktion
1 falls te0,7)
f(t) =
—1 falls t € [m,2m).
Fourierkoeffizienten
ak:O.
b — 4/(km) falls k ungerade
" 0 falls k gerade.

Fourierreihe

4 (sint sin3t sin bt )
— 4+ ...

7T1+3+5

Originalfunktion und Partialsummen fiir n = 5,15, 100

L

Title: Source: folfourier.tex

Slide 1

www.mathe.tu-freiberg.de/~wegert/Lehre/AusKapAna/Fourier.pdf



31

Fourierreihe einer Sagezahnfunktion

Originalfunktion
f(t) =t auf [—m,m)

Fourierkoeffizienten

ajp = 0,
2
bk — (_1)k+1E
Fourierreihe
9 sint sin2t n sin 3t n
1 5 3 A

Originalfunktion und Partialsummen fiir n = 5,15, 100

Title: Source: folfourier.tex

Slide 2

www.mathe.tu-freiberg.de/~wegert/Lehre/AusKapAna/Fourier.pdf



Fourierreihe eines Dreiecksimpulses

Originalfunktion
£(t) = 21~ 1 auf [-m,m)
Fourierkoeffizienten
o — —ﬂikQ falls k ungerade
0 falls k gerade

b = 0.

Fourierreihe

B 4 cost+cos3t+cos5t+
k2 1 32 52 )
Originalfunktion und Partialsummen fiir n = 5,15, 100

31

www.mathe.tu-freiberg.de/~wegert/Lehre/AusKapAna/Fourier.pdf



